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1. During a tennis match, a player serves the ball at 23.6 m/s with the ball moving horizontally 2.37 m above
the court surface. The net is 12 m away and 0.90 m high. (a) How long does it take the ball to reach the net?
(b) How high is the ball when it reaches the net? Does it hit the net or clear it? (EC) How fast would the ball

have to be hit to just clear the net?
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2. To show how tough it is, a pickup truck in a commercial is projected downward at an angle of 35° with the
horizontal from the top of a building 170 m high at an initial speed of 40 m/s. Calculate (a) the time to hit
the ground (b) how far from the base of the building it hit (c) angle it hit at (d) its final speed.
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[image: image3.png]3. A soccer ball on the ground is kicked at 19.5 m/s at a 35° angle with the ground. (a) What is the maximum
altitude it reaches? (b) How far away from where it is kicked does it hit the ground?
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